






  






                  ECOC/BCMBS

 B.Com./B.Com. (C.S.) DEGREE EXAMINATION, NOVEMBER 2015.
III YEAR — VI SEMESTER

Elective – INCOME TAX LAW AND PRACTICE — II
   Time : 3 hours



Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Mr. X acquired a house property on September 20, 2012 for `90,000. The asset is transferred on January 15, 2015 for `2,50,000 and the brokerage paid on sales is `5,000. Compute capital gain.

2. Find out taxable long term capital gain from the following. Cost of acquisition `1,20,000.

Year of purchase of assets 1983-84

Amount of selling price ` 35,00,000

Date of selling assets 10.2.2015

CII for 1983-84 is 116 and for 2014-15 is 1024.

3. Mr. X gives the following particulars of his Income for the previous year ending March 31, 2015.

(a) Winning from Lottery 1, 2015: net amount: ` 49,000.

(b) Winning from Card games: `16,000. Determine the income chargeable for the previous year 2014-15.

4. The following incomes are received by Miss. C during the assessment year 2015-16. Compute taxable income.

  










   
 `
(a) Royalty on books(Expenses for the




above book ` 5,000)




          30,000
(b) Interest on POSB





   1,500
(c) Cross word puzzle prizes




   2,500

5. Compute the gross total income from the particulars given below:

House property (let)                 

 `30,000

Loss from self occupied house

 `16,000

Income from let out houses    
 
 `20,000

6. Compute the gross total income of Mr. X  from the following details :

(a) Speculation loss                                        
`  60,000

(b) Income from house property                
`     5,000

(c) Non- speculation business income      
`1,00,000

(d) Winnings from cross-word puzzles      
`   50,000

7. Explain deduction u/s 80E?

8. Compute gross total income :

(a) Business Income                                                 
 `  83,000

(b) Interest on debentures                                      
 `  49,000

(c) Long term capital gains on transfer of gold  
 `4,10,000.

9. Mr. Y previous year’s gross total income is `5,00,000. He has made the following donations. Calculate the net income.

(a) National foundation for communal harmony     `10,000

(b) National children’s fund



     
`20,000

(c) National defence fund



     
`25,000

10.  How will you determine the net income of an Individual?

11. Mr. Suresh informs you that his total income computed under the income-tax Act is ` 4,60,000. You are requested to calculate his tax liability for the assessment year 2015-16.
12. Mr. Arul Informs you that his Total Income computed under the income tax act is ` 5,20,000. Calculate his tax liability for the A.Y: 2015-16.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. What is set off and carry forward of losses? Explain the procedure.  

14. Mr. X purchases a house property for ` 26,000 on 10th May 1962. He gets the first floor of the house constructed in 1967-68 by spending `40,000. He dies on 12th September 1984. The property is transferred to Mrs. X by his will. Mrs. X spends Rs. 80,000 and `26,700 during 1985-86 and 86-87 respectively for reconstruction of the property. Mrs. X sells the house property for Rs.95,00,000 on 15th March, 2015 (brokerage paid by Mrs. X is `41,500). The fair market value of the house on 1st April, 1981 is `4,60,000.
15. Mr. Chowdhary’s income details for 2014-15 are as follows:

(a) Agricultural income from Sri Lanka ` 20,000.

(b) Interest on POSB a/c ` 1,000.

(c) Interest on deposit ` 9,000.

(d) Income from sub-letting ` 1,500.

(e) Dividend from foreign company `15,000.

(f) Horse race income (net) `53,500.

16. Mr. N discloses the following incomes from business or profession for the previous year 2014-15.      

(a) Profit from ‘A’ business



` 5,00,000

(b) Loss from ‘B’ business



` 1,00,000

(c) Loss from profession ‘C’



` 1,50,000

(d) Profit from speculation business ‘D’

`. 2,00,000

(e) Loss from speculation business ‘E’

` 3,00,000

17. What are the permissible deductions from Gross Total Income?

18. From the following information, compute the total income of Mr.Y for the  A.Y. 2015-16.

(a) Salary at `7,000 p.m.

(b) He contributes 14% of his salary to P.F. fund to which employer contributes an equal amount.

(c) Interest credited to the P.F. at 9.5% p.a. `1,200.

(d) Life Insurance Premium paid ` 5,000.

(e) He paid ` 8,000 as donation to a Charitable institution.

(f) Other income ` 20,000 including interest from bank `4,000.

19. Explain the method of computing the income of a firm?
SECTION – C     (2 × 15 = 30 Marks)
Answer any TWO Questions out of 4 Questions

20. X and Y transfer the following assets to a partnership as their share of capital during 2014-15:

	Particulars
	X

`
	Y

`

	Land acquired on 1-7-79:

       Value recorded in books                              

       Cost of acquisition

       Fair market value on 1-4-81

Land acquired on 1-1-80:

Value recorded in books

        Cost of acquisition

        Fair market value on 1-4-81

Gold acquired on 31-3-2014(cost)

        Value recorded in books

        Fair market value on 31-3-15
	8,00,000

70,000

60,000

-

-

-

3,00,000

5,00,000

3,10,000
	-

-

-

50,00,000

    50,000

 1,00,000

 4,00,000

 6,00,000

 3,50,000



Compute the capital gains accruing to X and Y during 2014-15.

21. From the following particulars of Mr. Edward for the previous year ended 31st March 2015, compute his total income for the A.Y. 2015-16.

He received:











              `
(a) Director’s fee from a company




10,000

(b) Interest on Bank Deposits




  
  3,000

(c) Income from undisclosed sources



12,000

(d) Winnings from lotteries (net)




82,200

(e) Royalty on a book written by him



  8,000

(f) By giving lecturers in functions




  5,000

(g) Interest on loan given to a relative



  7,000

(h) Interest on Tax Free debentures of a company

(listed in recognized stock exchange)


   
  3,560

(i) Dividend on shares





  
  6,400

(j) Interest on post office savings bank a/c


    500

(k) Interest on Government securities


  
  2,200

(l) A sum of ` 26,000 is received as gift on 1-8-2014 from a friend.

(m) A sum of ` 50,000 is received as gift on 1-10-14 from his sister.

He paid ` 20 for collection of dividend and `1,000 for typing the manuscript of book written by him.

Mr. Edward has following other transaction:

(a) House property ‘A’ purchased for Rs. 6 lakhs (stamp duty value: ` 6.5 lakhs)

(b) Plot of land purchased for ` 7 lakhs (stamp duty value ` 9 lakhs).

22. Explain in detail regarding the deductions available to an Assessee u/s 80CCC, 80D, 80DD?

23. Total income of Mr. V a resident of India for the previous year 2014-15 is `16,00,000. It includes ` 20,000 on account of income arising from securities which is taxable under the head profits and gains from business or profession. He has paid securities transaction tax of `1,200.

Compute the tax payable by Mr. V for the previous year 2014-15.

Mr. V’s savings & investments are:

(a) Deposits in PPF ` 85,000.
(b) Repayment of loan for house acquired `1,00,000 (other than interest)
__________



[P.T.O.]
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